Virginia High School League

Scholastic Bowl, 2001-02 season

State Competition, Match #4

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the State level. Shawn Pickrell and Adam Fine are the authors of these questions.

All participants and spectators must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the State competition before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia. This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
While it is also utilized to salvage hormones and organs, what process first used extensively by Giovanni Morgagni (mor-GAHN-yee) in the eighteenth century involves the dissection of corpses in order to determine the cause of death?

ANSWER:  autopsy
2.
In contrast to earlier periods, churches rendered in this style featured reinforced walls that allowed for rib groin vaulted stone ceilings.  What period of medieval art and architecture lasted from about 1050 to 1200, immediately preceding the Gothic?

ANSWER:  Romanesque period

3.
THIS IS A COMPUTATION QUESTION. What is the derivative of the fraction, 1/x (one over x)?

ANSWER: NEGATIVE ONE OVER X SQUARED
4.
He once said, in an attack against rival Carl Sandburg, that he would “as soon play tennis without a net then as write free verse.”  Which American’s collection North of Boston contained the poems “The Death of the Hired Man,” “Mending Wall,” and “Stopping By Woods on a Snowy Evening?”

ANSWER:  Robert Frost
5.
He was the Prime Minister of Canada when the historic NAFTA free trade deal was made. Who is this Conservative who served between 1984 and 1993?

ANSWER: Brian MULRONEY
6.
Albite, anorthite, and orthoclase are three types of what group of silicate minerals that rank 6 on the Mohs scale and are the chief components of igneous rocks?

ANSWER:  feldspars

7.
THIS IS A COMPUTATION QUESTION.  After losing to Maryland at College Park, if Pete Gillen makes Travis Watson walk back to Charlottesville, and it takes him 24 hours non-stop to make the 132-mile trip, at what speed (in miles per hour) does he travel?

ANSWER:  5.5 (or 5 ½) miles per hour 

8.
What important 1962 Supreme Court decision held that federal courts must consider the 14th Amendment when hearing suits challenging Congressional and other legislative districting?

ANSWER: BAKER V CARR

9.
F.S. Flint first published three rules that were said to govern the movement:  “treatment of the ‘thing’ directly; to use no word that did not contribute to the presentation; and regarding rhythm, to compose in the sequence of the musical phrase, not the metronome.”  What poetry movement founded by Ezra Pound also included H.D., Amy Lowell, and William Carlos Williams?

ANSWER:  imagism (or Imagists)

10.
Inmates included Brad Dourif, Christopher Lloyd, and Danny DeVito, while Louise Fletcher played the sadistic Nurse Ratchit.  What 1975 film, based on a Ken Kesey novel, starred Jack Nicholson as Randall Patrick McMurphy, and swept all the major Academy Awards?

ANSWER:  ONE FLEW OVER THE COCKOO’S NEST
11.
THIS IS A COMPUTATION QUESTION.  If Billy Blanks has three million dollars on March 1, but 4,000 customers return his $20 Tae Bo video each day because they felt ripped off, on which calendar date of the year will he go broke?  

ANSWER: APRIL 8 (4,000 x 20 = $80,000 per day; 3,000,000 / 80,000 = 37.5, so it would take 38 days)

12.
What two words describe the physical and emotional distress resulting from an injury, for which a plaintiff in a civil suit can get cold, hard cash?

ANSWER: PAIN AND SUFFERING
13.
Elizabeth, Fritz, Jack, Ernest and Francis are some of the members of what titular family that flees Switzerland to avoid the Napoleonic Wars and is shipwrecked in Indonesia in a novel by Johann David Wyss?

ANSWER: ROBINSON (accept Swiss Family Robinson)

14.
What former NFL coach of the Giants, Patriots, and Jets, nicknamed “The Tuna,” narrowly missed selection to the Pro Football Hall of Fame in 2002, perhaps in part due to shady negotiations and then back-sliding from the Buccaneers’ head coaching job?

ANSWER:  Bill PARCELLS
15.
It gradually died out in its area of origin because of a heavy dog tax and strict quarantine laws, but they were revived in England.  What breed of yellow, chocolate, or black dog originated in Newfoundland in the seventeenth century as opposed to the nearby area for which it is named, and lost its most famous member, Buddy Clinton, to a car accident?

ANSWER:  Labrador retriever
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.

1A.
Norwegian composer Edvard Grieg is best known for converting what Ibsen play into a musical suite, which includes the piano solo “In the Hall of the Mountain King?”

ANSWER:  “Peer Gynt”
1B.
What was the name of the political machine that dominated New York state politics between the 1820s and the 1850s, and was named for that state’s capital?

ANSWER: ALBANY REGENCY
2A.
The narrator of the poem Rime of the Ancient Mariner brought bad luck on his ship by killing what bird?

ANSWER: an ALBATROSS
2B.
What adjective describes two angles that share a common vertex and whose sides form two lines?

ANSWER: VERTICAL
3A.
Two skew lines are not parallel, but do not meet due to what relationship between the lines?

ANSWER: they are NON-COPLANAR (accept equivalents such as “they are not in the same plane”)

3B.
The International Museum of Photography in Rochester, New York is located at the home of what pioneer of the box camera and founder of the Kodak Company?

ANSWER:  George Eastman
4A.
What is the angle between the direction of wave motion and a line perpendicular to the surface the waves are striking, as opposed to the angle of reflection?

ANSWER: Angle of INCIDENCE
4B.
What chemical law expresses a relationship between the rate at which a gas diffuses and its molecular weight?

ANSWER: GRAHAM’S law

5A.
Who was the Alabama scientist that invented over a hundred different products, including plastics, dyes, inks and face creams from the peanut and sweet potato? 

ANSWER: George Washington CARVER
5B.
What six-letter word means either a performance on stage or screen, or someone who is temporarily assuming the duties of a higher office?

ANSWER: ACTING
6A.
Sharia, emphasizing proper conduct, is the sacred law governing what religion of over one billion adherents?

ANSWER:  Islam

6B.
Mansa Musa was the greatest ruler of what West African empire?

ANSWER: MALI
7A.
A false accusation of rape from Adela Quested against Dr. Aziz, an Indian surgeon, is the main plot line of what book by E.M. Forster?

ANSWER: A PASSAGE TO INDIA
7B.
Take a line and a point not on the line. In hyperbolic geometry, how many lines can pass through that point?

ANSWER: INFINITE (accept equivalents)

8A.
THIS IS A COMPUTATION QUESTION.  What are the two roots, in simplest terms, of the quadratic equation z² - 32z + 244 = 0?

ANSWER:  16 + 2√3, 16 - 2√3 (sixteen plus two root three, sixteen minus two root three)

8B.
Sheik Hamad bin Isa al-Khalifa has declared a constitutional monarchy in what island kingdom in the Persian Gulf?

ANSWER: BAHRAIN
9A.
What name is given to a soap-like emulsifier that contains a sulfate or a phosphate group instead of a carboxylate group, and is used primarily in the cleaning of clothing?

ANSWER: DETERGENT
9B.
Isaac Newton and Stephen Hawking are two of the holders of the Lucasian Chair of Mathematics. The Lucasian Chair is a professorship at what prestigious British university?

ANSWER: CAMBRIDGE
10A. 
He accepted the English Bill of Rights in 1689. Who is this king that was installed during the Glorious Revolution along with his wife Mary II?

ANSWER: WILLIAM III of Orange

10B.
In what long 1956 poem, a major credo of the Beat movement, does author Allen Ginsberg exclaim, “society has destroyed my generation?” 
  

ANSWER:  “Howl”
Third period: 15 tossups
1.
While the comparative form of an adjective is used to compare two things, such as taller in Joe is taller than Mike, what form of an adjective is used to compare three or more things, such as tallest in Joe is the tallest boy in the class?

ANSWER: SUPERLATIVE
2.
In what companion piece to Common Sense did Thomas Paine write “These are the times that try men’s souls?”

ANSWER: The CRISIS
3.
Which musician composed the jazz pieces “Clarinet Lament,” “My Sophisticated Lady,” and “Mood Indigo?”

ANSWER:  Duke Ellington
4.
Natural ones with calcium are called ugrandites, while ones without calcium are called pyralspites.  Almandine is the most common form of what often deep red gem, the birthstone for January?

ANSWER:  garnet
5.
What name is given to the logical statement formed when a conditional and its converse are both true, and expressed with the words “if and only if”?

ANSWER: BICONDITIONAL (accept IFF if the two f’s are stressed)

6.
This type of vote is very important in many parliamentary democracies, as the government must resign and new elections must be held if the vote fails. What is this vote, forced occasionally by a government that senses members of its coalition are wavering on an important issue, most recently done by Schroeder’s Social Democrat-Green coalition in Germany over sending German soldiers and war equipment abroad?

ANSWER: NO CONFIDENCE or CONFIDENCE
7.
What four-letter word refers to a coin of very small value, such as that mentioned in one of Jesus’ parables, or to one of a group of very small, usually parasitic, arachnids?

ANSWER: MITE
8.
This strong acid is a colorless oily liquid. What is this acid with formula H2SO4?

ANSWER: SULFURIC acid

9.
THIS IS A COMPUTATION QUESTION.  What is the dot product of the vectors 5i + 3k and 6i – 5j + 4k?

ANSWER:  42
10.
According to some Haitian and West African beliefs, humans can be turned into these by bocors who use the neurotoxin TTX, derived from the puffer fish.   What enslaved reanimated corpses form the basis of the film “Night of the Living Dead?”

ANSWER:  zombies
11.
Emperor Wu, who ruled between 140 and 87 BC, was the greatest leader of what Chinese dynasty?

ANSWER: HAN
12.
Who is the former CEO of Enron that is being investigated for possible fraudulent action during the Enron crisis?

ANSWER: Kenneth LAY
13.
What poem containing the lines “The port is near, the bells I hear, the people all exulting, / While follow eyes the steady keel, the vessel grim and daring” was written by Walt Whitman?

ANSWER:  “O Captain!  My Captain!”
14.
How many periods are in a typical IP address?

ANSWER: THREE
15.
It can be made of nonliving material, such as wood chips, straw, or paper; or of living material, such as leaves of pulverized earth.  Either way, what material is placed on the soil surface to prevent weeds from growing, and to prevent roots from suffering from the effects of frost?

ANSWER:  mulch
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

1.
Richard Poole, Mr. Guest, Dr. Lanyon and Mr. Utterson are supporting characters in what book by Robert Lewis Stevenson about a man who has discovered a formula that can unleash the hidden evil within a person?

ANSWER: The Strange Case of DR. JEKYLL AND MR. HYDE
2.
What name is given to a point in a network where it is possible for two different segments, or arcs, to share the same endpoints?

ANSWER: NODEs

3.
What 1781 work by Immanuel Kant attempted to fuse empiricism with rationalism by arguing that knowledge is limited to experienced phenomena, but the title characteristic is needed to make order out of knowledge?

ANSWER:  The Critique of Pure Reason
4.
What African country has its capital at Dakar?

ANSWER: SENEGAL
5.
Naturalist Carolus Linneaus termed them “the princes of the plant kingdom.”  There are over 2700 species of what large tree whose leaves of the raffia variety can grow as long as 65 feet, and is often found lining streets in southern California?

ANSWER:  palm tree

All questions copyright 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


